
M4X25

(4PCS)

4

M6X25

(4PCS)

5

M8X30

(4PCS)

6

Ø16X6.5X1

(4PCS)

Ø16X8.5X1.5

(4PCS)

7

ST8X65

(3PCS)

1

Ø10X50

(3PCS)

2

Ø18X9X10

(4PCS)

8

STEP1B

STEP2

STEP3A

STEP4

1a

Wool wall

2a 3a

1b 2b 3b

70

70

Ø
5

Tape

measure Pencil

Drill

 (10 mm)

Concrete Drill

Screwdriver Hammer

Tools Needed (Not lncluded)

( 5 mm)

Wood  Drill

 Level

x1

Hardware Included

TV Bracket

x2

Wall Plate

x1

4、5、6

8

7

M4 M8

TV

STEP6

13mm

Screwdriver

4、5、6

8

7

Only one screw size fits your TV.

Too Short Too Long Correct Correct

× √× √

STEP1A

Brick wall

1

2

600x400

Max

Max

35Kgs

10° to -10°

26"-65"

M5X45

(2PCS)

9

9

Screwdriver

±3°

Wall Plate tube1

x1

Wall Plate tube2

x1

Ø22X8.2X1.5

(3PCS)

3

M8X55

(2PCS)

11

M8X60

(1PCS)

10

M8

(3PCS)

13

M6X10

(1PCS)

14

M6

2

3

3

STEP3B

11
12

13

14

12

10

13

STEP5

-80°

+80°

-30°

+30°

4
2
0

M
A

X
=

1
4
0
6

,
 
M

I
N

=
9
1
4

6
6
3

+5°

-12°

Ø
1
0

Ø20X8.5X2

(6PCS)

12

MODEL759




